;
3

y

Wallaby™ Assembly Instructions

warmer

Refer to User Manual for comprehensive information:
http://www.mtts-asia.com/wallaby-warmer/

STEP 1 - Remove components from the box

/ > o
w / X ase
o

X 2 Side Panel b4cm

X 2 Side Panel 64cm

hd
g
' x 1 Bed Mattress
tay

x 1 Stand
X 2 Storage Shelves
Q x 1 Stand plastic frame
X 4 Bolt M10x80
TT x4 Bolt M10x25
IIII IT X Bolt M10x120 + 2 Nuts
. x 1 Bolt M10x60 + 1 Nut
x 1 Control unit
< & x 1 Hand crank
. T~ .
x 1 Bed with X-ray tray ( ) x 2 Skin sensor

STEP 3 - Attach Control Unit and Hand

STEP 2 - Attach Stand to Base
Crank to Stand

(@]

Two people might be required t
perform this step

ORI
), =

@.,_ o

-
. D X
@ T (- Two people might be
@ - o required to perform
w o this step

STEP 4 - Attach Side Panel to Bed

Attach only side panel that is closest to the Control Unit in

this step.
Remaining panels will be attached in Step 6.

V.1.03.EN Wallaby Warmer. Assembly Instructions.



STEP 5 - Attach Bed

STEP 6 - Attach 3 remaining Side Panels to Bed

STEP 8 - Attach Storage Shelves

S

i=d 220-240V (AC)

V.1.03.EN Wallaby Warmer. Assembly Instructions.



